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B.Sc. 2nd Semester (Programme) Examination, 2021 

CHEMISTRY 

(States of Matter & Chemical Kinetics; Chemical Bonding & Molecular Structure etc.) 

Paper: SP/CHE/201/C-1B 

Course ID: 21418 

Time: 1 Hour 15 Minutes                                                                              Full Marks: 25 

 

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words 

 as far as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যাগুক্ষি প্রশ্নের পূণণমাশ্নের ক্ষেশ্নদর্ণক। 

পরীিার্থীশ্নদর যর্থাসম্ভব ক্ষেশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব। 

 

1. Answer any five of the following questions:                                                               1×5 = 5 

 যয যকাে পাাঁচটি প্রশ্নের উত্তর দাওঃ  

(a) Explain the basicity of H3PO2. 

H3PO2 এর িারগ্রাক্ষহো বযাখ্যা কশ্নরা।  

(b) State two uses of rare gases. 

ক্ষবরি গ্যাস সমূশ্নহর দটুি বযাবহার যিশ্নখ্া। 
(c) Write down the van der Waals equation for n moles of a real gas. 

n  যমাি বাস্তব গ্যাশ্নসর েেয ভযােডার ওয়াশ্নির সমীকরেটি যিশ্নখ্া। 
(d) Determine the dimension of Surface Tension.  

পৃষ্ঠটাশ্নের মাত্রা ক্ষেেণয় কশ্নরা। 
(e) Write down the chemical formula of Hyponitrous acid. 

হাইশ্নপাোইট্রাস অ্যাক্ষসশ্নডর রাসায়ক্ষেক সংশ্নকে যিশ্নখ্া। 
(f) Write down Maxwell's equation for distribution of molecular speeds.      

মযাক্সওশ্নয়শ্নির আেবগ্ক্ষে বণ্টশ্নের সমীকরেটি যিশ্নখ্া। 
(g) Write down the two important postulates of Kinetic Theory of Gases. 

গ্যাশ্নসর গ্ক্ষেেশ্নের দটুি গুরুত্বপূেণ স্বীকাযণ ক্ষববৃে কশ্নরা। 
(h) In between SnCl2 and SnCl4 which one has higher ionic character? 

SnCl2 ও SnCl4 এর মধ্যে ক োনটির আয়ননয় চনরত্র কেশী?  
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2. Answer any two of the following questions:                                                              5×2 =10                                                                               

  যয যকাে দটুি প্রশ্নের উত্তর দাও : 

(a) Derive an expression for the rate constant of a first order reaction. State its unit. 

একটি প্রর্থম ক্রম ক্ষবক্ষক্রয়ার আশ্নপক্ষিক হার ধ্রুবশ্নকর গ্াক্ষেক্ষেক সমীকরেটি উপপাদে কশ্নরা। এর একক 

ক্ষক?                                                                                                                            4+ 1 = 5 

(b) (i) σ bond is more stronger than π bond. — Explain.  

      σ বন্ধে π বন্ধে অ্শ্নপিা যবর্ী র্ক্ষির্ািী — বযাখ্যা কশ্নরা। 

(ii) What will happen when CaC2 is heated with N2? Give equation. 

       সমীকরে সহ CaC2 যক N2 এর সক্ষহে উত্তপ্ত করশ্নি ক্ষক ক্ষবক্ষক্রয়া হশ্নব বক ো। 

(iii) What is Marshall's acid? 

                Marshall’s অ্যাক্ষসড কী?                                                                                 2+2+1 = 5 

(c) Determine the values of critical volume (Vc), critical pressure (Pc), critical 

temperature (Tc) of van der Waals gas and hence show that RTc/PcVc = 8/3. 

              ভযান্ডরওয়াি গ্যাশ্নসর সংকট আয়েে (Vc), সংকটচাপ (Pc) ও সংকট উষ্ণো (Tc) এর মাে ক্ষেণণয় 

কশ্নরা এবং এখ্াে যর্থশ্নক যদখ্াও যয RTc/PcVc = 8/3.                                                             5           

(d)  (i) SiCl4 is easily hydrolysed but CCl4 is not. – Explain. 

       SiCl4 সহশ্নে আর্দ্ণ ক্ষবশ্নেক্ষষে হয় ক্ষকন্তু CCl4 হয় ো – বযাখ্যা কশ্নরা। 

(ii) SO2 molecule is polar but CO2 molecule is non-polar. — Explain. 

               SO2 ধ্রুবীয় ক্ষকন্ত CO2 অ্ধ্রুবীয় — বযাখ্যা কশ্নরা।                                                   3+2 = 5 

3. Answer any one of the following questions:                                                            10×1 =10 

 যয যকাে একটি প্রশ্নের উত্তর দাওঃ 

(a) (i)  Write down the Arrhenius equation for rate constant. Draw the plot of lnK vs 1/T. 

   হোর ধ্রুে  সংক্রোন্ত আরধ্হননয়োধ্সর সমী রণটি ক ধ্ ো। lnK vs 1/T এর ক  নচত্র অঙ্কন কশ্নরা।  
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(ii)  Half-life of a first order reaction is 20 min at 25°C and at 35°C temperature the half-

life of the same reaction is 15 minutes. Calculate the ratio of rate constant at said 

temperature. 

25°C তোপমোত্রোয় এ টি প্রথম ক্রমনেনক্রয়োর অযধোয়়ু 20 নমননট ও 35°C  তোপমোত্রোয় ঐ এ ই 

নেনক্রয়োর অযধোয়়ু 15 নমননট। এই দ়ুই তোপমোত্রোয় হোর ধ্রুে  এর অন়ুপোত ননণধয় কশ্নরা।                

        (iii) Draw the structure of H2O according to VSEPR Theory. 

               VSEPR তত্ত্ব এর সোহোধ্যে H2O এর গঠন অঙ্কন কশ্নরা। 

        (iv) NH3 is pyramidal while CH4 is tetrahedral shape. — Explain. 

               NH3 নপরোনমড আ ৃনতর ন ন্তু CH4 চত়ু ষত   — েেো েো কশ্নরা।                   2+3+2+3 = 10   

(b)  (i) Discuss the effect of temperature on surface tension of the liquid. 

     তরধ্ র পৃষ্ঠটোধ্নর উপর উষ্ণতোর প্রভোে আধ্ োচনো কশ্নরা। 

       (ii) Find the percentage of occupied space in an FCC atomic lattice. 

             FCC  ক  োধ্সর পনরপূণধ স্থোধ্নর শত রো পনরমোণ ননণধয় কশ্নরা। 

      (iii) Define Schottky defect.   

             স্কটন  ত্রুটি ন ? 

      (iv) Which one is more stable — O2 or O2
+
? Discuss it from Molecular Orbital Theory. 

              O2 এেং O2
+এর মধ্যে ক োনটি কেনশ স্থোয়ী? আননে   ক্ষ  তত্ত্ব কথধ্  এটি েেো েো কশ্নরা। 

       (v) Name the two oxides of sulphur with their formula.       

             সো ফোর এর দ়ুটি অক্সোইড এর নোম ও সংধ্ ত যিশ্নখ্া।                            2+2+1+(1+2)+2 = 10                                                                                                                                   

 

  


